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. Chapter 4 — Maths floerPi'nance

. oo PYQMay 18]
1f 1,000 be invested at interest rate of 5% and
the interest be added to the principal every 10

| years, then the number of years in which it will , . -

amount to ¥ 2,000 is: S Himple Ink B
16% years 6% yea}s T
g ¢. 16 years d. 6% o

@  Apersonborrows 2 5,000 for 2 years at 4% per .
annual simple interest. He immediately leads
"\ to another person at 6.25% per annum for 2
years find his gain in the transaction for year: -
a. 112.50

‘ /5225 »
d. £107.50

If anhamot is kept at L it earns anintergs"-,‘

20%, 21,200
10%, 21,200 *

1f 10,000 is invested at 8% p.a. co
quarterly, then the value of the investment
after 2 years'is: [(1+0.02)=1.171659] looo®
£11,71659 b, ¥10,716.59

9 d. None of these

@

Chapierd. athenmtlc: for Finance

A man deposited Z 8,000 in a bank for 3 years

at 5% per annum compound interest, after 3
years he will get
a. %8800
c. %9200

29,261
d. ¥9,000

If in two year; time a prinipal of ”
-amounts to T 121 when the interest at 1% is
" compounded annually, then the value of r is

T 105% b= 10%
.o 15% “a. 14

A certain sum of ey Q was deposited f

. Syears and 4 months at, 4.5% simple interest
and amounted to ¥ 248, then the value of Q is
b 2210 Mool .0,
4 2240

200
Lo 2220

- If compound interest on a sum for 2 years at
4% per annum is T 102, then the simple
interest on the same sum for the same period at
- the same rate will be

b. 2101

d 95

(11)  Ifthe difference between the compound interest
compounded annually and simple interest on
a certain amount at 10% per annum for two ,Q
years is € 372, then the principal amount is %

// Z37,200 b. ¥37,000
C. 3

The effective rate of interest for one year
deposit corresponding to a nominal 7% rate of
interest per annum convertible quarterly is

a 7% b. 7.5%

.. 74% T 7.18%

. annually. A sum of ¢ D5 d'eposited in' e '_f(13) How much will ¥ 25,000 amount to in 2 yea
" bank. The amount at the end if 1 year will be o at compound interest if the rates for the
| / ceny e successive years are 4% and 5% per year
_ el o S oz 22730 b. 227,000
= e How B 227,500 d. 227,900
(6) A certain amount of money doubles itself in C Givs 10 Yers iS SO0 ard, Princele IS
10 years when deposited on simple interest. It b5 A ot 1000 +So0=Soe
would triple itself in SeoX\O° _ Now . Then semainfime
20 years b. 15years \Goo XS 4o @azn Se© G:s G—\?&L
. 25years d. 30 years 6 _ C.CCleavs =  oF Boso (& 6.
C yea Y S%?g_o;g = ¢ < 7“-'&"' Go ’ M_\_-‘“Q'\ S \6. 66 Ve
\o X666 = \62
_ ' CA. Pranav Popat 41
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pests < 12, 000 at 10%

A man it 20%
. . 'f (n) athefSl"" of money at20% p. “‘ﬁ"’o ye
v ded ha A vestment earns at 149, Jea, {31) - On what sum will the compound interest at 38) i 5
: interest compou re fotal it °pa. gy " a (: A certain sum amounted to ¥ 575 at 5% in a
L= 300/ i;llfbl:::n’:’fd e fancsn o) nterBS‘ the total investment is: " 5% per annum for 2 years compounded ¥ timeinwhich 2 750 amounted to % 840 at 4%.
s yearly wi 78,620 o= 8 000 b. ¥20,0p9 | ~ annually be Z 3,280. If the rate of interest is simple, find the sum-
L s et 2 a0 4 216,000 T 525 - bS50 o3
(e <8, Q%A {6 C. A d. Z 64,000 i
. in sum of '"0"31’"""”"" e diffrence in Simple interes ” X c. 515 500
15) 'I‘hewh:';z:; in 5 years thet pﬂ"m’“ 3 The ted of T 1,500 for 3 years is & 18 (32) An amount P becomes ¥ 5,100.5 and Z 5,203 (39)  Find the amount of compounded interest, ifan
a;' e B (P 2= i e in their rates i: The | after second and fourth years respectively at amount of X 50,000 is deposited in a bank for
amoun| :20 =7 60 36¥ ';a. dxﬁtﬂo4 b. 06 ‘ 1% of interest per annum compounded ., . one year at the rate of 8% per anmum
a. 2 4 %820 =) €A - s:lb / 08 annually. Thus value of P and R are: o 'f . ers. compounded semiannually QeowR).08
= i g o . reogalS T s0mAl T e a0 eom
«?16) A sum of money amount to T6, 2(;0’";;‘21 the Find ﬂfﬂ e]fechvﬂ mte ofmterest on 10, = c ,000and2  d. 5,500 and 3 c 5,456 T4 7856

e
.(40) The papulatxan of a town i increase by 2% of the
compounded semi-annually amounts to:v- - - .. \ “i.,, Population at the begmnmg of the year. The
%1,20,000 at the end of one year. Find thesum‘ Sl number af year by whith the total increases in

% 1,15,340 b. 1,10,120 O

oo Y
o od able hal 1
and ¥ 740052233“’ P‘i’aoo —)\1&0‘3\ . thCh interest is pay ) If year Y at 50, p
prmap:.?:)ﬂo b. €3,500 ..) sa_°° ) L

y fhese._= 3300

d. Noneo)

33) A certain sum invested at 4% per annum ..,

W,eﬂ‘gctwe rate of interest qt 100, 5

n would be 40% is:
i , : c 112,812 d. 1,13,113 g b " (ogCu _ 0.l
3 as per CL an N ,13, L if q =ahh 3 |
smwasmosted;f;;’s '.‘l;:;ss 9%, 20 year when interest is payable quarterly egé b 10years Wl) O.00%
themteofl?:emffas% i y. Find 10.38% b. 5% (34) Find the compound interest if an amount of % / i Yyears \
e is 6% and 3™ year is : n?’ﬂm’es;mw 35507 / 504% ‘ d 4% 50,000 is deposited in bank for one year at the e, 0, -~ 19 years (approx.) = ?-\/‘
ﬁxesw;g‘;tgeﬂm"" ! " 00 550° [’x\\ ek ; b HaA 4 PYQ} Vou.; i rate of 8% per annum compounded semi-
¥ g . annually.
i { 350 S504.13 twlll be the populatum aﬂer 3 years o, .
e 246216 T (26) ;’f:mt opulation is € 25,000 and P"Pulat’:? ‘ a 23,080 bz 24,080 two banks each at 15% p.a. fix 3.5 year in the
2 n

c d. ¥7,85

increases at the rate of 3% in 1 year, g 4o/ B 35455 bank and fix 5 years in the either. The

5% in 3 year? B . difference between the interest amount from
- ye“; ;,;dll; & b. ¥29,118 \‘W (35) An amount is lent at a nommalgate of 4 5% the bank in ¥ 144. Find the sum L4
a.

1=m then [ will be
100

ﬁ *  per annum compounded quarterly. What a. %620 =640 .

d z 1 22

S b“¥3.300 ?27000 B ‘?; would be the gain in lpees over when c. %820 d. (840 5
2 Nop, 1 e ; — -

Z3,735

C.

©7) Thevalue of scooter is T 10 000 ﬁnd its valye
after 7 years if rate of depreciation is 10%, Pa.

unded annually? S \ok-S s LR R : ‘O Tas
g 0.56 4&2 0457 —\UW.S° (g3 T szmple interest on sum at 4% pa. jbr 2
; X 0.85
%4,782.96 b. ¥4,278.69 s .

0.076 years is X 80. Find the Cl on the same sum for

k ; 2 o= o0 the same period.
E4 ,079 _ 36) What sum afmoney will'} produce 4 42 800 as . % ¥81.60 b. %80.80
BE R g an interest in 3-years and 3 months at 2.5% 83.20 d. ¥82.30
le interest?
eriods (28) SI=0. 125P at 10% p.a. Fmd txme p-a. simp S ;
;’W;';? roerion / 1.25 years b. 25 years a.  3,78,000 /? 5,26,769 is a better investment 9% p.a.
one o

0.25 7S C. 34,22

000 ?2,24.000

compounded quarterly or 9.1% p.a. simple

p 10 § 3 interest?
If P #=2% 96, and R = 8% compounded 23 >YQ Nov. 19 /em
a{mua'llythenP= (29) Scrap value of a machine valued at 10,00,000, (37) The ratio of principal and the wmpoundﬂ: _ | 8" 9% compounded
b. 215,000 10 years within depreciation at 10% p.a. % interest value for three years (compounded . T-b.  9.1%S.T.
sl iy d. (17Iooo o gg 48,678 44 g 73,84,67945 annually) is 216+127 The rate o interestis: "' ¢ Bothare same
o5 5 ; 0 24,00,000 % Z 3,00,000 a. 01777 b. 0.1567 “9ids - Cannot be said
R ¢ . 0.166 d. 01587
*(21)'- In ST if the principalis < 2,000 and the rate and : Hﬂm = 6 I "
U time are the roots of the “7"“”’"‘ 30) Thedtﬁ’erenoe between CI and SI for 2 years, A=345 _5 Q= Q('\dz'\-\‘b = \\1, \
. ;‘;ﬂa : ‘:f 111+30—'0 then S is o g is21. Ifrateofmterestsz%ﬁnd pnnapal Q0= A6 NIWBE 2\6 ,wj s‘d
A 4y 2840 b. 4,800 WS - o _bg% & \/
, oL 4o Re0 - . ¢ 8000 d 28200 S . A /m,, P
- o . > *
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0 Wit s the d’fﬁ‘"’"“e (in 3) p, tu,e%‘;(
The effective rate of interest corresponding 0 . interest and the compoung ; |
“ o ded quarterly simple " 2 “'es‘ by
nominal rate of 7% p.a. compoun r 22 ven
a. 7.5% b 7.6% as,,mof”o"”f” years at g, 'e
hen the mterest is y
\T\, - )l'.‘g"! < PYQ Jai 10% p-a- & cO"lpound
iy \~) o ‘ ital at 7% year”
(45) A man invested one-thxrd of his capt 0% If 136.12 b. 129 50
»  one fourth at 8% and the remamderafl Yo d 4720
the annual income is ¥ 561. The capita "5‘ -l 4“\? o ﬁ*‘“’ 2 ket o QI
SR . :::gg Sonxt = um ) AsumofEX amounts fo 2 27 900 ; 'd“"il
¢ 26,600 d. ) 3 (3

and to < 41,850 inG yeurs at g o, ye"'l

a
Z 2200 : 2 at per mmum, when  the i fer rq,t
o A .y ofmoney . le;l‘gz(;’o": ;‘etzlff’nfmf . compounded ycarly m’” velm; of xis, i
years. It would fetch m iss Rreres 70 o 16080 s | 18 600
is compounded half yearly. The su 1 ¥ J,,\ 18 060 '}
a. 19,800 b, €19,900 T v *} - -
?ZO 000 d 20, 100 o1l < 2 \\\J!.

T’ denote the actual rate afmterest in
decimal, and n denote the .number ~0f
-, .~ conversion periods, the formula for computing

the effective rate of interest E is given by. f/ W
a1+ (1+i)" -1 &

| mvested z70, 000 in a bank

o ’ 5% P4 .a. simple interest rate, py, { the "
925 aﬁer the end of term. Fing, °°d

pmod for which sum was investeq by UE th

2 years b 3years

- e Ps i Sy
. = & 5A D%
c -—(1+x) _ d- (1+l) e % A company needs Z 10000 in ﬁve Veary
( ” ctwerabe Of retum for 24% per. - @ replace as equipment. How much (i ?)s
le monthly is given as: : be invested now at an interest rate of 89, b b
annum2 :t:/"ve"ﬂ’ 6.82% - is order to provide for this equipmens,
a. o -'424%‘_ 7 6,000 b. 6 ,805
e 10,000 __d 11 000

| What is the oampound interest, (in f) on asum
of ¥ 12,600 for 12§ymrsat70%pcrannum
if the mtereslts compmmded Talf yearly?

(56) R needs money ta pay Z 5,00 000 in 10 q
He invested a sum in a scheme at 99, m&
interest compounded half-yearly. Hoy, migy
amount (in T) he invested? 1.046% =211

sy a 307,321 b. 2,70,321
(50) A sum of < 7,500 amounts toZ9, 075 at 10% ¢ 2 07’321 d. 340321
¥  pa., interest being compounded yearly in a AR T S PYQ sz
certain time. The simple interest on the same

N ”(57)  An amount is lent at R% simple interest forg
/ o %  yearsand the simple interest amount was o

sumforthesametimeandthesammte
a. 1,000 b.

1250 o0

1,500 \7.\ fourth of the prmctpt:l amount. Then R is
5 ;‘i-_f PYO Tuly a. 5 sug b 6
— T i‘b"gl 7 ¢ s "d gn
(51) A certam sum amounB to T 15,748 in 3 years '

X at simple interest at 1% p.a. The same sum
amounts to ¥ 16,510 at (r +2) % p.a. Sl in the
same time. What is the value of r?
a. 10% b. 8%

(58) A sum of money is put at 20% compound

s interest rate p.a. at which year the aggregated

~ amount just exceeds the double of the original
sum?

a. 6

59 In how much time a sum of amaunt doubles at
simple interest at 12.5% rate?
a. 7 years

b. 8 years

(60) The eﬁectme rate of mterest correspondmg a
nominal rate of 7% p.a. convertible quarterly.

b. 7.5%

d. 7.18%

a. 7%

e 8 4..'6 . PYQDec22
(61) A machme worth %4,90,740 is deprecxated at
*  15% on its opening value each year. When

would its value reduce to % 2,00,7507
a. 5 years 5 months
b. 5 years 6 months
c: 5 years 7 months
d.

Yor P eens

E m@,@e@
62) If ? 64 amount to ¥ 83 20in 2 Years, what will

286 amount to in 4 years at the same Rate i

percent per annum?
a.  T127.60 bi <147.60
¢ 214534 4 ¥117.60°
R Swiinp

(63) A farmer borrowed 33, 600 at the rate of 15%
simple interest p-a. At the -end of 4 years, he
cleared this | account by paymg 24,000 and a
cow. The cost of the.cow is:

a  TL000 b %1200

c.. %1550 d. 21,760
A T "PYQDe_'l’EZ*
rate  of interest

P

i

68 The
corresponding to a normal rate of 6% per

effective - annual

annum payable half yearly is:
a  6.06% * b. 6.07%
¢ 6.08% d. 6.09%

5 years 8 months |

'«(68) A sum of money doubles itself in 4 years at
certain compound interest rate. In how many
years this sum will become 8 times at the same
compound interest rate?

a. 12 years b.

 d

CA. P/anay POPD'( l MCO Comnilar h......&u.:u, A = SR 1 ey
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(65) M. Prakash invested money in two schemes

* A’ and ‘B’ offering compound interest at the
rate of 8% and 9% p.a. respectively. If the total
amount of interest accrued through these two
schemes together in two years was ¥4,818.30
and total amount invested was 327,000. What
was the amount invested in schemes ‘A’?

a. Z12,000 b.
c < 13,000

Z 12,500
d. 13,500

(66) A sum of money mvested of compound interest
% double itself in four.years. In how many years
it become 32 times of itself at the same rate of
compound mter’eslf7 i

{ ’s\x;mp[e est on an amount of ¥ 15,000 for 2
é years is < 96. What is the rate of interest p.a.?
\ » b. 8%

d. 11%

14 years

69 Mr. Ram mvested a total of ¥ 1, 00 000 in two
different banks for a fixed period. The first bank
Yields an interest of 9% p.a. and second, 11%
per annum. If the total interest at the end of
one year is 9.75% p.a., there the amount
invested in these banks are respectively:

% 52,500, 347,500

b 62,500, % 37,500

C: 57,500, % 42,500

d '567500 <32,500

S SRS AR m.’%ﬂ

(70) The nommal rate of interest is 10% per
annum. The interest is compounded quarterly.
The effective rate of interest per annum will be:
T 0% b. 10.10%
o: 10.25% d. 10.38%

)
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: tand
"“The difference between compound mt?fww
simple interest on a certain sum 9 num S
invested for 3 years at 6% per b
¥110.16. The principal is
a. 3,000 b E3700
¢ 12,000 d. 10,000

“(72) A machine depreciates 10% of its value at the
: beginning of the year. The cost and scrap ; a”d
realized at the time of sale being 723,24 o
Z 9,000 respectively. ApproxtmatEIy.7f0f
many years the machine is put to use<

359K @ 7 b 8

[ J d. 10

(73)  The population of a town increases every yea}
i by 2% of the population at the beginning 9
SR gy year. The approximate number of yea;;
"% by which the total increase of population ¥
‘be 40%, is (Given 1.02° =1.17166)

a. 15 b. 17

C 19 d. 20

B

78 The compound interest on % 15,625 for-9-
" months at 16% per annum compuunded

quarterly is: .
a. %1851 b.
c. %1951

(75) Jonny wants to have 2, 00 000 in his saving
account after three year. The Faberof interest
offered by bank is'8Y o pér.anmym compounded
annually. Hoiwiuchs ‘ﬁﬁ he invest today to
achieve his target amioint?

o 147489305 b 15676644
¢ EL71, 035_59 d. ¥1,84/417.96 :

(76) ]onny wants to have € 2,00,000 in his savmg
account after three year. The rate of inferest
offered by bank is 8% per annum compounded
annually. How much should he invest today to

4 adueoe his target amount?

1,58,766.44

%147,489.10  b.

17103559 d. 318441796

is the efﬁﬂ"’e rate of ifereg, %
W’:‘: pal ot < 50000 depog Y,

pt k for onte year, "l
lized ban Yyear, co
nation® al rate inferest 8% po, g, y

a nomitt an
mmP"undﬂd‘I“"'tmy [a.02)* =108, o
o 1038% b 8.089,

L 816% ., 8.24%,

ermen invests € 12,000 at 6% pe, .
simple interest £ obtain a totq]
Whaf is the time for
714,380. ral? ’uch b
o 3yers °
79 er,m,kesadepos&of?SOOOOm )
fara pzrwd 25years. If the rate ofmtermn
VP‘-”MW 1 compounded half yeqy, early, i,
maturity value of the money depo;,, ied
A, Mr X is: (where (1.06)° =1.3382)
Toog o €66910 b. 266123
267,925 d. ? 65, 550

(80) A machme oostmg 1, oo 000 e usefu[ hj.
10 years. If the rate of depreciation s o
what is scrap value of the machine at the
of lfe? Given (0.88)" =0.27850
a. 225850 b 226850

c. 227, 850 ¢ ?28 80

(81) Compute the campaund mtermt on ( 6 ,000 )(,

1.25 years at 8% per annum. Interest wil
compounded quarterly
a. 642
¢ 634 68

= i

b. 630.78
d. 62448

)

The papulatwn ofa aty increases at the ratco/
5% every year. What will be the populationof
the city in the year 2023, if its populationin

2021 was 1,00,000?
a. 105500 b. 1,10250
3630 1,15,240 d. 1,20550

83). “Mr. XYZ invested 2 60,000 in g nationalized
bank in the form of fixed deposit at the rate of

7.5% per annum simple interest rafe. He
received ¥ 73,500 after the end of the term of
fixed deposit. Calculate the period for which

60,000 was invested in fixed deposit,
a. 3 years b. 3.5 years
4 years d. 4.5years

(84) An amount T 4,500 becomes ¥ 7,200 in two
years at a simple interest rate of :
a 15%
c - 30%

b 25%
%

(85).  The difference between the compuund mteres
amount and the simple interest amount fora
period of two years, at same inferest rate r is
a. Pxr? b.

pxL
2

[ Px2xr d. Plxr

; Ju
(86) If the mterest rate on a loan i is 1% per month,

the effective annual rate of interest is:
a 12% b. 12.36%
¢ 1268% d.

22,119
22,000

(88)  Find the effects veya interest if an amount
0f 240,000 depositedin a bank for 1 year at the
rate of 10% compounded semi-annually
10.05%

10.10%

a.  10.20% b.
c.  10.25% _d

(89)  The value of a machine depreciates every year
at the rate of 10% per annum, on its value at
the beginning of that year, if the present value
of the machine is ¥ 72,900, then machine’s

.. worth 3 years ago was:
a. - 80,000 b. ¥94,710
¢ ¥1,00,000 d. X75,087

£Q Compiler - 0umtltqt]vq Ap{ltude_E\diﬁqn 4
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(90) What is the effective rate of interest when
principal amount of ¥ 50,000 deposited in a
nationalized bank for one year, corresponding
to a nominal rate of interest 6% per annum

payable half yearly?
a.  6.07% b. 6.06%
c.  6.08% d. 6.09%

Kanta wants to accumulate 4,91, 300 in her
savings account after three years. The rate of
interest offered by bank is 6%% per annum

compounded ang

should she inbest, to q

. How much amount
achieve her target

b 2409600
4. 249,600

tired to earn a monthly Lntemt of
°€1,200 at 18% per annum simple interest is:
a. . 60,000 b. ¥50,000

< 80,000 d. ¥66,000

The compound inferest on 40,000 at 12%

annum compounded quarterly for 6 months is:
a. %2463

(2 %,364 .

b %2643
d._ 22436

(94)

At a certain rate of interest per annum, the
difference between the compound interest and
simple interest on ¥ 3,00,000 for two years is
< 480, then the rate of interest per annum is:
a. 4%

C. 6%

b. 2%
d8%

Mr. Xmakesadeposttof?lZOOOmabank

£ Aouhl

where the at ¢ nd
interest in 5 years, then what will be the fotal
amount he will have after twenty years?

47, W ¥ 1,20,000 b. 96,000

d. ¥1,92,000

c < 1,24,000

1 a 2 a 3 b
4 a 5 a 6 a
7 b 8 b 9 a
10 ¢ 11 a 12 d
13 a 4 b 15°b

CA. Pranayv Popat
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3in A sum of money dou "l ).« The value of a machine depreciates 12%

10 years. In how many Years wi; (17)  The annual birth rates per 1,000 are 394 |
;,"te':et: 'ht hyrzs e LTI 'l]’the present value of Z 68,150 then 19.4 respectively. The number of years which
;’Cﬂ 108 b. 30 its value in 3 years ago was. the population will be doubled assuming there

p . & 2110000 b.  21,00,004 is no immigration or emigration is
c. A— ] c Z 92,000 d. 97,000

a.  35years b. 30 years
m c. 25 years d. none of these

(10)  What principal will amount to Z 370 in 6 years

:
[

@
3

The time in which a sum of money w‘ll be |
doubled at 6% com compound interest COMPOUnge,

, £ 8% p.a. at simple interest (18) 210,000 invested at annual rate of inferest of
ded interest compoung a ,000 is invested a al rate
interest compoun o el a. 3210 b. ¥250 10% p.a. The amount after two years at annual
annually approximately. ¢ 2310 42310 ompounding i
10 years b. 12 years - . COnpOnAINgEs
a. Y ; 8 a. Z21100 b. 12100
C- A 13 Ears -(11) The eﬂ‘ectwe rate of interest is an amount c. L4 12110 d. None of these
Sk S = 225,000 is deposited in a bank for one year at :
rs and 1500 to 14
‘Alent 60 A a‘l{ﬁ:zterw fof ¢ 900Cfo value of 6% per annum compounded semi- (19) The annual,ﬁzﬂh,rﬁ!?ﬂnd death rete per 1000
4 years and receive Ay mterffmn annually is are 39.4 and 19.4 ra}e&wely The number of
both. The rate of in est a.  599% b.. 5.95% years® ‘it whick ‘population will be doubled
method calculated.
S

c. - 609% d 6.90%

- ”\IHHn

assuming that there is no immigration or
Nov 18 e%gratwn is approximately

: .40 Years b. 30 years
35 Years d. 25 years

(12) ASum of money daublm itself in 10 years. The
number of years it would be trebled itself is:
a.  25years b.  15years

T

: difference between the interests receipg
om two different banks on T 5000 for 2 Years \
is £ 50 then the difference befween this rates
a. 0.25% b. 0.40% ‘

If the effective rate of interest is 11% per annum

_d. Noneo th&se
S ] and the interest is compounded quarterly, the

A certam money doubles ttself in 10 years wi

13)

. : nominal rate of interest per annum
. 050% 4 0.75% deposited on simple interest. It would fnple " a - 11.78% b 1121%
e e (TP Nov itself in . 1189%c d.1149%
The szmple mterest Of P %f"’ P years wﬂl beg a.  30years b. 20years i ey A 51
Ponasumof: . (21) The dlﬂ‘erem:e between CI and SI on a certain
a P =3 : xMay, money invested for three years at 6% per
: 200 (14) . A man deposited ¥ 8,000 in‘d.bank for 3 years annum is ¥ 110.16. The sum is
at 5% per annum’ compound interest, after 3 a Z 3000 b. %3700
= b 10 | yearshewill get ¢ 212000 4. 210000
- ) a 79000 o  MTPMay195
(1)  Nominal rate afIntcnst 9 9% pa. Iflnterest is . 29200 2 Szmple e 3500for 3. years at 12%
, compounded monthly. What will be the effective LI ( P +1) - 7 e i
N2 100 “ g i
: e br oot e ( 33) ~1.1036) a5) effectwe rate of mterest for one year a. %1200 b. T1260
; 4000 d. - 100 corresponding to a nominal at 7% rate of c. z 2260 d ¢ ZOOO
i o 1036% b 9.36% ( J interest per annum convertible quarterly is S  mE
‘ 11. 36% 9. 9% 5 1 a 7% b. 7.02% (23) ? 1000 is mmted at unnual rate of mterwt of
: ¢ = The mmpound interest on  certain sum s ¥ c__ 8% 10% p.a. The amount after two years if
@2 A machine worth af 4 4 90,740 is deprecmted ¥ 209 simple interest is T 200 for 2 years. What : : 5 compounding is done annually is
: at 15% on its opening value each year. When is the rate per cent for 2 years? {16) . The 2 L t'own ln.crefzses EOeTY yean a. Z121 b. %1210
its value reduce to % 2,00,000 o 9% b 18% by 2 % of the population beginning of that year. @ #2110 d.  None of these
a. 5 years 6 months . 45% i 10% The number of years by which the total increase
b. 5 years 7 months of population be 40% is
¢ Syears5 months a.  7years b. 10 years
d.  Noneof these ¢.  17years(apx.) d. None of these
CQ Compiler - Quantitative Aptitude Edition 4  [(Re NSL =00 213 49
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- - in a three years’
4. l_prersanmvests?.?,ooom“
* investment that pays you 12% per annurm.

. Calculate the future oalue of the investment.
: a. ¥4214.78 b. ¥412478
(= £4324.48 d. ¥452648

. (25) A person deposited a sum of 310,000 ina bank.
% After 2 years, he withdrew ¥ 4,000 and at the

s %

S end of 5 years, he received an amount of ¥ 7,900;
then the rate of simple interest is:
a. 6% b. 5%

fepe € 10% d. None of these

_(26) A trust fund has invested ¥ 30,000 in two
. % different types of bonds which pays 5% and 7%
interest respectively. Determine how much
amount is invested in second type of bond if
trust obtains an annual total interest of T 1600.
a.  T5000 b. 6000
c. -~ 7000 d. 8000

\(27) At six months intervals A deposited ¥ 1000 inf;

#  asavings account which credit interest at 10%
p.a., compounded semi-annually. The first
deposit was made when A's son was;6 mtm‘thsb

%

ate of interest if the
a converted quarterly?
b. 5.09%
[ d. 5.60%

(29) A sum of money doubles itself at compound
interest in 10 years. In how many years will it

become eight times?
a 20 b. 30

c. 40 d 35

¥

interest amount to Rs.2688 in three years and
to T 2784 in four years af the rate p.a. equal fo.
a 7% b. 6%

CA. Pranay Popat

e
’ c 5%

30) Certain sum of money borrowed at simple

»

N

: Y2,
A sum of T 46,875 was lent out at simp,'
interest and at the end of 1 year Smonths g,
total amount was < 50,000. Find the rate o

@1

interest percent per annunt. |
o 5% b. 6% ‘
. 4% d._ 8%

(32) A=25200, R =5%p.a, T=6years, Puwilly,

a. 22,000 b. 3,880

c. £3,000 d. none of these
(33)  The time by whidl ggmofmoneywouldtreb'lé“

itself at 8% p.aC. 155 ‘

a.  14.28years b. 14 years |

c. “12years d. _noneof these,

4 AR A S j_r(_:“gf;j, ‘
f“ chine dep:e&nts at 10% of its value at thj
,qmmng of a year. The cost and scrap valy,
“yealized at the time of sale being T 23,240 ans

#9000 respectively. For how many years g,
3 machine was put to use?

iy = 3 4 May, /)
The compound interest on half-yearly rests oy
710,000 the rate for the first and second years
being 6% and for the third year 9% p.a. is

a. Z2,200 b. 2287
& 2,285 d. _i 2290.84
¥ '

nominal rate 3% p-a payable half yearly is

a.  32%pa b. 3.25%pa
[ 3.0225% p.a_ d ,i"l?}f .gf these

(6] Asum of money triples itself in 18 years unde
simple interest. what is the rate of interest p.a?
a 9% b. 9.09%

c 1111%  d 13%

o2,
What time will be required for a sum of money

to double itself at 8 % Simple interest?

a.  8years b. 8.5years

c 12.5 years d. 12 years

G8)

39 The difference between simple interest and
Y55 compound interest on a sum of ¥ 6,00,000 for
two years is ¥ 6000. What is the annual rate of

AR -

interest?
a 8% b. 10%
c. 6% d. 12%

(40) What is the sum of money will amount to
211035.50 in four years at compound interest
for 1st, 2nd , 3rd and 4th years being 4% , 3%
+ 2% and 1% respectively.
a. 10,000 b. ¥11,000
c_ ¥1035 4. 11,305

A Machine was purchased for ¥ 10,000. Its rate

of depreciation is 10% in the first year and 5 %
per annum afterwards. Find the depreciated
value of Machine after 7 years of purchase

. a  T6606 b. Z6616

c. %6660 d. 6661

@)

The effective rate of interest for one-year deposit‘j s
corresponding to a 17 % rate of interest -
per annum convertible quarterly is k '
a 7% b. 75% ..
c.  74% d_718% -

when present populatigits is €25,000" and
population increases at the raté of 3 % in first
year, 4 % in seca%e/zr and 5 % in third year?

a.

c i ¢
SI=0.125 P at 10% p.a find the time
a. 1.25 years b. 25 years
c. 025 years d. None of these

2 8,000 becomes 10,000 in two years at simple
interest. The amount that will become ¥ 6,875
in 3 years at the same rate of interest is:

a. 34850 b. %5000

cl 2 5500 d. ¥5275

—

| MC@ Compller - Quantitative Aptitude Edition’
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46)

.The difference between the simple and
compound interest on a certain sum for 3 year
at 5% p.a. is T 228.75. The compound interest
on the sum for 2 years at 5% p.a. is:

a. ¥3175 b. 23075
& Z3275 d. %2975

47) A sum of money doubles itself in 10 years. The
number of years it would treble itself is:
a.  25years b. 15 years

@ 20 years

(48)  The effective ratéequivalent to nominal rate

6% compourided mdﬁ}hy is:

a. 605 . b 617

c 626 d. 6.07
e 5 v rasan e

son borrows ¥ 5,000 for 2 years at 4% p.a.
ple .interest. He immediately lends to
. another person at 6.25%p.a. for 2 years. Find
. his gain in the transaction per year:

. & ¥112.50 b. 2125
L N2 d. 216750

The cost of machinery is ¥ 1,25,000/- if
- useful life is estimated to be 20 years and the
rate of depreciation of its cost is 10% p.a., then

the scrap value of the Machinery is
a. 15,197 b. 15,400

c. 15300 4. 1525

If A person invests ¥ 5,000 in a t years’
investment that pays you 12% per annum.
Calculate the future value of the investment.

a. Z7024.64 b. 27124.78
_c %7324.48 d. 2752648

Two equal sums were lent out at 7% nd 5%
simple interest respectively. The interest earned
on the two loans adds up to ¥ 960 for four years.

Find the total sum lent out.
a. %4000 b. %3000
c 25000 d. Z6000

1CQ Compiler - Quantitative Aptitude Edition 4 W @
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(33) ' A sum of money amounts to Rs. 20,800 in 5

> years and ¥ 22720 in 7 years. Find the principle
and rate of interest.
a. < 5000, 6%

C. < 80000, 8%

b. 16000, 6%
d. 10000, 10%

{ (54) The annual birth and death rates per 1000 are
i 39.4 and 19.4 respectively. The number of years
i in which the population will d

there is no xmnugratxon or emigration is:

hlod

S

.,\’,': a. 35 years b. 30 years
= BNCINN25 d. None of these
"(55) The effective annual rate of interest
corresponding to nominal rate 6% p.a. payable
i half yearly is
e 606 b 6.07
6.08 d 6.09
(56)  The cost of machinery Rs.1,25,000 if its useful

life estimated to the 20 years and the rate of %
depreciation of its cost is 10% p.a . Then scrap .

o5 value of machinery is
= a.  Rs.15187 b. Rs. 15400%
4 ¢ Rs.15300 d. Rs.15250™

57)  IfaSI onasum of money at 6%‘#@ for 7 years
is equal to twice of simple interest on another
sum for 9 years at 5% p.a. The ratio will be

a. 215

3

b 7:15

In what wi ‘sumofnwney double itself at
6.25% p. a%imple’mltfest?
a. 5years b

“(59)

What wxll be populatwu aﬁer 3 years when
present population is 25,000 and population
increase at the rate of 3% in first year , at 4%
in second year and at 5 % in third year ?

a. 28,119 b. 29,118
c. 30,100 d. 27,100

Rs.1000 at 10% CI. Find the time
a. 3.31 years
c. 3 years

b. 4 years
d. 2years

CA. Pranav Popat

A sum amount to Rs. 1331 at a principal of

(61)  The sum of money doubles itself in 10 Year,
The number of years it would be treble ltsglfls
a. 25 years b. 15 years

20 years d. None of these

‘2‘ N
62)  Arun purchased a vaccum cleaner by 3"’“18
# 21700 as cash down payment, which wiy) be
followed by five EMIs of 7480 each. The vac,
cleaner can also be bought by paying 2397
* cash. What is the approx. rate of interest p.o
simple interest) under this instalment plan)
a. 18% b. 19%

2%

63) Ifasumdri l yaars at SImple rat
of intetest, the rate o) interest per annum w;y
a? 13% b 133%

13.5%

d. 18.0%

present population is 25, 000 and populay,

" increases at the rate of 3% in L year, at 4% in I
** year and 5% in LIl year?

a. Rs.28,119 b.

Rs 27 000

Rs.29,118

"He eﬂectwe rate of interest cquwnlem fo th
nominal rate of 7% converted monthly:
a. 7.26% b. 7.22%
c. 7.02% _

(65)

How much wxll be Rs 25,000 to in 2 yﬂmm
compound interest if the rates for the successin,
years are at 4% and 5% per year
a.  Rs.27,300
& Rs.27,500

(66)

b. Rs.27,000
0 FERED.

(67) ~Asum of€46 875 was lent out at simple
interest and at the end of 1 year 8 months, the
total amount was T 50,000. Find the rate of
interest per annum.
a. 8%

@

Asum ofmoneyamount to? 6, 200 in Zyems

and ¥ 7,400 in 3 years. The principal and rate
a.  ¥3,800,31.57% b. 33,000,20%
c 3,500, 15% d. none of these

The effective rate of interest corresponding to a
" nominal rate 3% p.a payable half yearly is

a. 32%pa b. 3.25%p.a
3.0225% p.a d. none of these

1A sum of money gets doubled in 5 years at X%
= " simple interest. If the interest was Y%, the sum
of money would have become ten-fold in thirty
years. What is Y — X (in %)
a. 10 b. 5
c 8 ) d. none of these
(71)  The difference between Compound Interest and
Simple Interest on a certain sum for 2 years at
6% p.a. is ¥ 13.50. Find the sum
< e 3750 b. 2750
c. 4750 none of these

72)

The sum required to earn a monthly interest of
Rs 1200 at 18% per annum Simple Interest is

a. ' 50,000 b.
@ z 80 000 d.

¥ 60,000
none oj th&se

The compound interest eamed by a mon =
lender on ¥ 7,000 for 3 years if the rate’ of
interest for 3 years are 7%, 8% and 8.5% is

a. 21750 b. 551800

c 776 d nore of these

@3)

3'6 }00. Tts price

depreciates at the rate of 10% oﬁa year during

the first two years énd at the rate of 20% in

third year. Also, ﬁnd the total depreciation.
56,72 b 2115620

d. 21,10,520

(75).  In what time will be a sum of money doubles
itself at 6.25% p.a simple interest?
a.  Syears b. 8years

[ 12 years d. 16 years

76) The d [ference between the simple and
compound interest on a certain of 3 years at 5%
p-ais ¥Z 228.75. The compound interest on the
sum of for 2 years at 5% per annum is

a. 23175 b. 33075

@ 23275 d. 32975

1CQ Co =
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(77)  How much time would the SI on a certain sum
be 0.125 times the principal at 10% p.a.
a. 1.25 years b. 1.75 years
2.25 years d. 2.75 years
(78) . The time in by which a sum of money is 8 times
of itself if it doubles itself in 15 years interest
compounded annually.
a. 42 years
c. 45 years

b. 43 years
d. 46 years
(79)  Present value of ascooter is 37290, if its value
- decreases cvery yéar, by 10% then the value
before 3 years is: eqm

a 10000 b
c. 20,000

10,500
¥ 4. 20500
75,4

the eﬂ’echve rate of interest at 10% p.a
hen ‘the interest is payable quarterly.
Yo 1038% b. 5%
¢ 504% d. 4%

(80)
w

The difference between in simple interest on a
sum invested of 1500 for 3 years is 18. The
difference in their rate is
a. 04
c. 08

b. 0.6
d. 0.10

82)

What will be the population after 3 years when
present population is 25000, if the population
increases at the rate 3 % in 1 year, 4 % in Il year

and 5% in III year.
ca. 28119 b. 29,118
_c 27, OOO d. 30,000

If 10,000 is invested at 8 % per annum, then
compounded  quarterly. Then ovalue of
investment after 2 years is

(83)

a. ¥11,716.59 b. ¥10,716.59
[ Z12,715.59 d. none of these

In how many years will a sum of money become
double at 5% p.a compound interest

.a. 14 years b. 15 years
c 16 years d. 143 years
CA. Pranav Popat 413
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’ he principle is € 2,000, 4
S Find the ffective rate of interest if an amount 93) :;, sime ;::l":;':tg\ 'amp roots of the eqy ﬂ;:”: (100) . ectlve rale of nterest does not depend on (108)  Mr. X lent some amount of money at 4% ’S".I.
0f 30,000 deposited in a bark. For 1 year at the W2 —11x+30=0 a.  Amount of Principal * and he obtained ¥ 520 less than he lent in 5
rate of 10% p.a. compounded semi-annually. ; v b €600 b, Amount of Interest e Theeum lent
a.  10.05% b 10.10% ’ 2700 4. 2800 c Number of conversion periods a. 2620 b. 650
.  1020% d. 10.25% & . X d. none of these c. Z750 d. none of these
; i at the start of , ¥
'{86)  The present population of a town is 25,00.04 If i: 94 ;Zﬁ:r‘:zp:z“sﬂ;:ézofmunt. If the acfc::;' (101) A man invests 212,000 at 10% p.a. and (109) % 8,829 is invested into'three different iectars
grows at the rate of 4%, 5%, 8% during 1 carns interest of 5.75%  per amy, another sum of money at 20% p.a for one year. g in such a way that their amounts at 4% p.a.
wear, 2 year, 3™ year respectively. Then find compounded quarterly, how much money ;, 4 The total investment earns at 14% p.a. simple S.L after 5 years; 6 and 8 years are equal. Find
e the popul;ztinn after 3 years. wmp;'oe have at the end of 4 years? [Givey "'a; interest the total investment is: each part of the sum.
AR e 294 b, 29,844 014375)" = 1.25654 ] ; a. 18000 b. 220000 a. 73,069, 22,970;% 2,790
c. 29448 s * b ¥58553,6 . 14000 d. 216000 23,089, £2,970; 22,790

87)  The present valueof ascooter is ¥ 7290. The rate
' of depreciation is 10%. What was its value 3

. €54308
‘ 358, d. 2636244

(102)  The difference in simple interest of a sum

invested of T 1,500 for 3 years is Z 18, The

b.
¢ 73,609/2,970; 72,790
d‘ £g { .

. difference in their rates is: (110) ?80' 9 is téd‘ earn a monthly inter&st
years ago? : incipal double Lo,
a ?0000 b. 10010 mayy years does prm;lp 9 yea,.SS? a 04 b. 06 of ¥1200 at the rateof _____ p.a. SI
c 999 d. 12000 M years 4 7 years c. 08 d. 010 a  12% b 14%

©8) The rate of interest for the first 2 year is 3% per

" 8years
y&"‘ D, tieg

Certain sum of money borrowed at g

(103)  Find the effective rate of interest on ¥10,000

& ¢  16% d. 18%
*, PN
,_,‘..;;"_1) The effective annual rate of interest

&

; nd s (96) on which Cl is payable hal, % pa.
. annum, for next 3 years is SRptent S (‘96) . t to T 2688 in three years and to 3 »; o = fyeariy geiera ;
¢ for the period beyond 5 years, 10% per Gnnufm. o . U S ——— 8 a  506% b. 4% corresponding to a normal rate of 6% per
: If @ man gets € 1520 as a simple interest for6 .~ in four years at the rate p b 6% T to. = 04%  d. 3% annum payable half yearly is:
i ) o« ' . - I 5 1 o  6.06% b. 6.07%
. 5% . (104)  Find the effective rate of interest at 10% pa c.  6.08% d. 6.09%
(Bt LN Te0S 3 when interest is payable quarterly.” R ; ' MTP Jun 23 Series I
_. 97) An inv&simendf 5 e:fhemy"ei :‘;"ZZZ’;”:& :n;erm‘ a. ;%if/% b. 5% (112) A trust fund has invested Z 27000 money in
. p P and ¥ 2100 invested in ed fo 3 ! b d. 4% fw0 ‘A" and ‘B’ h it
AB9) The difference between simple interest, ” o . - - 3 schemes offering compoun
e compound interest on acertain for 2 years at 195 by year 4.1 500 i mv;;ted in the years 1 . = — E MIEDec22 Series IT interest at the rate of 8% and 9% per annum
b 10% p-a.. is Z 10. Find the Sum will become I by year 10. (105) at will be the pa;.mla.hongﬁerS years when respectively. If the total amount of interest
a 21010 P 1t e b Zosdan fhe Ao O%D" 1525,000& population accrued through these two schemes together in
¢ 71000 - 4. €990 c. 246480 _d. %664.80 increases at the rate of 3% in Ist year, at 4% two years was ¥ 4818.30. What was the

In how "-iir a sum of money
becomes four tresat 12% p.a. simple interest?

a. 18 years b. 21 years

o0

g

The effective ra intert does not depend

on

)

An investor is saving to pay off an obligation
Z 15,250 which will due in seven years, if
investor is earning 7.5% simple interest rq
p.a., he must deposit to meet the obligation,

a. 28000 b. %9000

- in, 2nd year and at 5% in 3rd year?
a. 28 s

(106)  The value of scooter is Z 10,000. Find its value

after 7 years if rate of depreciation is 10% p-a.

amount invested in schemes ‘A’?
a. < 12,000 b. 12,500
d. 12,500

c 710000 a. %4,782.96 b. ¥4,278.69 many years it become 32 times of itself at the
a.  Amount of Principal b S o L& . « 42,079 : same rate of compound interest.
' b.  Amount of Interest (99) The value of the scoo S— : a.  12years b. 16 years
L ¢ Number of Conversion periods depreciation is 10% p.a. Calculate deprecidy 07 T€ difference between the CI and SI for 2 c.  20years d. 18 years
d.  None of these value (WDV) at the end of seven years. yearls s 21.' If.t he rate of interest is 5%, the 2 - R
0. 24782970 b. 74700090 final principal is: (114)  The difference between compound interest and
._‘(.92) " Find the effectioe rate of interest at 10% p.. R o . 42,000 a. Z 8,200 b. ¥4,800 simple interest on an amount of 2 15,000 for 2
When interest is payable quarterly. = ¢ ¥8,000 d. 8400 years is ¥ 96. What is the rate of interest per
a. 10.38% b. 5% annum? .
C 5.04% d 4%
| poyy | CQ Co - f
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Mathematics for Finance
9% b. 8%
11% d 10%

Mr. A inoested T x in an organization, it
amounts to T 150 at 5% p.a. S.I. and to T 100
at 3% p.a. S.1. Then the value of x is

a. 370 b. 40

¢ T2 d. Noneo thase

ars)
*

(116)  Mrs. Sudha lent T 4,000 in such a way that
some amount to Mr. A at 3% p.a. S.I and rest
amount to B at 5% p.a. SI, the annudl
interest from both is ¥ 144, Find the amount

lent to Mr. A

a. 22,800 b.
c ¥ 2,500

e

A117) A certain sum of money beoomes double at 5%

rate of S.I. p.a. in a certain time, the time in

years is
a. 10 years b. 20years
C. 25 years d. None of these :

A certain sum of money amounts to T 5,000
5 years at 10% p.a. In how many years will it -
amount to ¥ 6,000 af same rate of S.1p.a.

a 10 years b. 8yems
[ 6 years

(118)

w4

at the rate of 2% for the 12 year, 3% for the
b second year and 4% for the 3% year. Find the
: amount to be paid qﬁers years
a  T1Z678 T b 2136587
¢ eTe3s78 4 7136578
: " M1

A certain sum of money amounts to double in
5 years placed at a compound interest. In how
many years will it amount to 16 times at same
rate of inferest?
a. 12 years
c. 24 ears

“(120)

b. 20 years
_d. None of these

If the compound mmt ona cemun sum of
money for 3 years at 5% p.a. be X 50.44, then

“az

the simple interest (S.I) is
a 50 b. ¥49
c 348 d.  None of these

CA. Pranav Popat l MCQ Compiler - Quantitative Aptitude Edition4

Chapter 4

%ﬁ!&achm deposited Rs.1, 00 000 in his bank for)

If the difference between C.I and S.1 on,
certain sum of money at 5% p-a. for 2 yeay,
2 1.50. Find the sum of money

a. 600 b.

c. %400

(122)

1
v

2500 ‘
d. Nore o ”ltsc i

)

The amount charged j‘or a defined lengu, 5

time for uses of principal, generally on Yeor
basis is known as

a.  Balance

Rate of Interest

(123)

b
fc:
d

1249 The suma, _
Rs. 125%;% 18% p.a Simple Interest is —
‘Rs. 50,000 b. Rs. 60,000

Rs. 80,000 d. Noneo these

i

gears at simple interest of 6%. How "ludl‘
interest would be he earns? How much fiy, ‘
4 value of deposit
a. Rs.6,000, Rs, 1,06,000 ‘
‘b.  Rs.15,000, Rs.1,15,000
c. Rs.11,600, Rs.1,11,600
d Rs 1200, Rs,1,12, OOO

" The ratio of pnnapal and the mmpo,‘w
interest value for three years (Compounde
annually) is 216:127. The rate of interest is
2. Rs. 50,000 b. Rs. 60,000
c. Rs. 80,000 d None of these
e S MIP Dec 23 Series|
(127) The Compounded mterest Rs.8000 for §
“months at 12% p.a payable quarterly is
a. Rs.487.20 b. Rs480

(126)

The annual btrt and death ratw per 1 000 are
39.4 and 19.4 respectively. The number o
years in which the population will be doubled
assuming there is no immigration or

emigration is
a.  35years b. 30uyears
¢ 25years ~d. None of these

I a!g ). The SLon sum of money at 6% p.a for 7 years

o is equal to twice of SI on another sum for 9
years at 5 p.a. The ratio will be
a. 2:15 b. 7:15

1:7

c 15:7 d.

Nominal rate of Interest is 9.9% p.a. lf mtemt
is compounded monthly, what will be effective
rate of Interest.
a.. 1036%
c.  11.36%

(130)

b. 9.36%
: d 9.9%

(131) The populatmn of a town increases by 2% of
the population at the beginning of the year.

The number of years by which the total
increases in population would be 40% is

a. 7 years b. 10 years

@

(132)

-(133) ' The simple interest on % 600

Erest from both is ¥ 144 I-‘md
the amount lent to Mr. A
a. Z2,800

(135)

A certain sum of money was put at S.I for 2.5
years at a certain rate of S.I. p.a. Had it been
i put at 4% higher rate, it would have fetched ¥
500 more. Find the sum of money.

a. Z4,000
¢ . 26,000

b. ¥5,000
d.  None of these

A sum of money invested in compaunded 39,

interest doubles itself in four years. In how %

_many years it becomes 32 times of itself as the . Ax%

same rate of compound interest?

a. 12 years. b.
20 years

16years£ 5 ‘

cQ Compiler - Quantitative Aptitude Edition 9.
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Z 1,25,000 is borrowed at. compound interest
at the rate of 2% for the 1st year, 3% for the
second year and 4% for the 3rd year. Find the
amount to be paid after 3 years.

b. ¥136587

d. None g these

(136)

a. 2125678
&, Z 163578

(137)

If the Compound Interest on a certain sum of

. money for 2 years at 4% p.a. be 510, then its
simple Interest (S.I) of same time at same rate
of interest is

a. 500 b. ¥510

a principal to double

if money s worth 12% compounded monthly?

& . 4.25 years. b. 5.81 years
i d. None of these

difference between cbmpound interest and
“simple interest on a certain sum for 2 years @
10% p.a. is Z 100. Find the sum:

o %1000 b 10,950

@ Z 10,000 d. 9,900

(140

If a simple interest on a sum of money at 6%
p-a. for 7 years is equal to twice of simple
interest-on another sum for 9 years at 5% p.a.
The ratio will be:
a. 2:15 b. 7:15

1.7

c 15:7 4

How much money is required to be invested
every year as to accumulate Rs,6,00,000 at the
end of 10 years, if interest is compounded
annually at 10% rate of interest

a. 37467 b. 37,476

@ % 37,647 d. 37,674

)

The Scmp value of machme valued at
Rs,10,00,000 after 15 years of depreciation is
10% p.a.

a. <215891.13

c. . 222589113

: (42 &=

b. ¥205891.13
d._ None

417
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PR charge a debsh“ |

nL) i nual rate of interest (150)  What annual payment will disch \
iﬁﬁ) m; b:"ominal rate 6% ;{.u. payable " ¥770 due in 5 years, the rate of interest bei.,é
: quarterly is: 5% per annum SI ?
o  614% b 607% a X150 b. T140
¢ ¢ 6.08% d. 6.09% ¢ ¥130 ‘
Ylg If the difference between the compound (151) Mr. X invests ‘P’ amofmt atts S,gllple Ime,;[!
interest compounded annually and simple ¥ rate 10% and Mr. Y inoes » amoun
, interest on a certain amount at 10% per Compound Interest rate 5% Co'ﬂpoundw
¥ annum for two .years is < 372, then the annually. At the end of two years both g, t
principal amount is. same amount of interest, therf th.e relq"n
a. 337,000 b. 237,200 between two amaunts P and Q is given by,
¢ ¥37.500 a. 4 b p_ 4;\(()2
L ER 7 [
\(145)  What will be the population after 3 years , P _ag |
B when present population is 1,00,000 and the 200

5 [P June 24 S
. population increases af 3% in year 1st year, at o SaioaE P — ]
- 4% in second year and 5% in third year. (152) . In‘what time will a sum 0f ey idourle nfi
e @ 112476 b, 115476 Wit 6.25% p.a. simple ‘"‘”‘;‘” ;
c 120576 d. 1,25600 & %'a Syers NSVEars
NPT ' e 12years 4. 16 years
146)  The value of furniture depreciates by 10% a .. FE L SV LY RTC LS SEHey
2 year, if the present value of the furniture inquéj’L (153)" Inwhat time wfll a surt of mt;ney double ;
1 office is ¢ 21870, calculate the value. of at 6.25% p-a. simple '"‘e'f" ,
g | : ) W . 277
b furniture 3 years ago: a. 250
1z a 230000 c. 300
b ¢ 235000 '

(147) A sum of money, lent oitk at simple interest, at 5% p.a compounded interest?

doubles itself in 8 ycars\:F'md in how many a.  15years 3 months
years will the sum become triple of itself. b. 14 years 2 months
a  16yems. ¢ 1dyears3 months
c. 20 gears d. 15 years 3 months_

ffective machine worth Rs. 4,90,740 is deprecig
when interest is payable quarterly. at 15% of ifs opening value each year.
a.  10.38% b. 5% would its value reduce by 90%?
c.  504% d. 4% a 11 years 6 months

1(148) : of interest af 10% a.

(155)

(157)

(160

(169)

ud. - 5years 7 months

Mathematics for Finance

ximatel;

(165)  The simple interest on a certain sum of money
Nomtinal rate of Interest 9.9% p.a. If Interest 3 o I 2t ;
is compounded monthly. What will be the *% Ll b e dudit i
effective rate of Interest when rate of interest and time are equal is
a.  936% b. 10.36 % a 2% b. 3%
c! 11.36 % d. 9.9% C. 4%

d. None of these

vl

A sum of Money doubles itself at compound (166)  Af what time a certain sum of money amounts
interest in 10 years. In how many years will to Z 400 at 10% p.a. S.I and to ¥ 200 at 4%
it become eight times pa.SI

a. 10 b. 30 a. 10 Yrs. b. 30Yrs.

c. 40 d. 35 e 50Yrs. d.

None of these

The time in which a sum of money will :

: (167)
doubled at 6%

- =% | x O 15
Z 6,400 anibnts t0°€. 7840 in two years at

compound  interest simple interest. How miuch will a sum of % 84
compounded annually approximately. invested at the same rate of simple interest
a.  10years b. 12 years imount in four years?

13 years d. 14 years %1120 b ¥112.20
de e M ; | ¥120.80 d. 2121.80
The amount charged for a defined length of Bl

A person gave a loan of ¥ 200 to Mr. X and
recovered it at the rate of % 35 for eight months,
commencing from the end of first month. What
is the effective rate of simple interest?
a. 10% b. 20%

(= 40% d. 60%

time for uses of principal, generally on year
basis is known as -
a. Balance
rc Principal

d. EMI

b Ral.‘eofInte%E%j.~

at 12% p.a payable quarterly is~

169

a.  %487.20 b.. ¥480 If the compound interest on a certain sum of
money for 2 years at 4% p.a. be T 510, then its
simple interest of same time at same rate of
interest is

p-a. for 7 years is:equal to twice of simple a. %500 b. 510

sum for 9 years at 5 p.a. ) c. d. None of these

2100

' wt sum will the difference between the
S.I and C.I for 3 years at 6% p.a. amount to

Sep24 Se 313.77?
9.9 % pa. If a. %1250 b. 21150

interest is compounded monthly, what will be 32
effective rate of Interest. Rt A
a 10.35% b. 9.36% (171)  The Partners A & B together lent ¥ 3903 at
c: 11.36% d. 9.9% > 4% p.a interest compounded annually. After a

S ATP Sep 24 Series T | span of 7 years, A gets the same amount as B
If the interest rate on a loan as 1% per month, gets after 9 years. The share of A is sum of T
the effective annual rate of interest is: 3903/- would have been
a  12% b. 12.36% a. 2875 b. 22280
c. = 12.68% d. 12.84% ¢ %2028 d. %2820

= M . b. 11 years 7 months
(149) A man invests an amount of 15,860 in the c.  11years 8 months
names of his three sons A, B and C in such a d.
way that they get the same interest after 23 o
and 4 years respectively. If the rate of interest (156) A machine
is 5%, then the ratio of amount invested in the depreciated at 15% on its opening alue e
name of A, B and C is. year. When its value reduces to Rs. 2,000
a. 6:4:3 b. 3:4:6 a.  4years 6 months
¢ 30:12:5 d.  None of these b.  4years7 months
c.  4years5months
[ | N acgons e T -
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147

PN R L ¥.n
148 o 149 a 150 b
151 a 152 d 153 d
154 b 155 d 156 d
157 a 158 b 159 b
160 b 161 a 162 ¢
163 a 164 ¢ 165 a
166 ¢ 167 d 168 4
169 a 170 a 171 ¢

. § ‘ 1 .
(1 MrX mvcst £10,000 evcry yenrstartmgfmm ‘
today for next: 10 years suppose inferest rgy, |
is: 8% per annual compounded annuau

¥

How much amount is requtred fo be i mvested
every year so as to accumulate ¥ 3,00,000 4
the end of the 10 years, if inferest i
compounded annually at 10%?

a. 31882365
b. ~-¥18328

c.  %18828.65
d._ 18882 65

)
*

A man invests an amount of ¥ 15 860 in the
names of his three sons A, B and C in such
way that they get the same interest after 2, 3
and 4.years respectively. If the rate of interest
is 5%, then the ratio of amount invested in the
name of A, Band C is:
a 6:4:3 b. 3:4:6

¢ 30:12:5 d. Noneofthm

@

The value of furniture depreciates by 10% o
year, it the present value of the furniture in an
office is ¥ 21,870. Calculate the value of

furniture 3 years ago
a. 230,000 b. 35,000
c.  %40,000 d. 50,000

¢

g) - Let a person invest a fixed sum at the end of

B4

|

©)

@

®)

a0

iva., 159,535
[ c..- 590,704

245047

each month in an account paying interest 12%
per year compounded monthly, If the future
value of this annuily after the 12 payment is
55,000 then the amount invested every
tnonth is?

a. 14,837
c. 24,337

b. 74,637
d. Z 3 337

Present value of a scooter is ¢ 7 290 ifits value
decreases every year by 10% then its value

before 3 years is equal to:
a. 10,000 b. 10,500
c. 20,000 d. 20,500

Find the future value of annuity of Z 1,000
made annually for 7 years at interest rate of
14% compounded annually. Given that

114 =2.5023
o 107307 b. 536535
o 8756 d.9,892.34

Pmd the prﬁent value of ? 1 00,000 to b&
required after 5 years if the interest rate be 9;:/9
Given that 1.09° =1.5386

a. 7899598

b. . 64,9%}'5"

. 0f 2100 each year. If the znteresﬁate is 8% the

future value of this annuity is given by:

2‘%?5alue at rate 8% for
~.08)
. (R100) x (future value at rate 8% for.
5 years) x (1 +0.08)
d.  (%100) x (future value at rate 8% for
5 years) x (1/0.08)

b (2100)5
- 5 years) ;

A person deczdes to invest ? 1, 25 OOO per year
for the next five years in.an annuity which

" gives 5% p.a. compounded annually. What is

the approx. future value?[1.05° =1.2762]
b. 6,90,500
d. 359,535

W Mathemat/cs for Finance

(11) Which of the following statements is Trite?
(assume that the yearly cash flow? Are
identical for both annuities)

a.  The present value of annuity due is
greater than the present value of an
ordinary annuity

b.  The present value of an ordinary
annuity is greater than the present
value of an annuity due

c.  Thefuturevalue of an ordinary annuity
is greater than the future value of an
annuity due ;.

a1z z 2,500 is pmd eaery ycar for 10 years to pay
aloan. What is the loan amount if interest
ratz be14% p.a. compounded annually?
Q( S 15,847.90 b. ¥13,040.27
s W
& >

f1467421 d. ?1634511
. Fmd the future ovalue of annuzty of 21, 000
)‘3" made annually for 7 year at interest rate of

14% compounded annually
a. Z10,730.7

b. ¥5,365.35

G Z 8,756

d.

? 989234

Z 800 is invested at the end of each month in
an account paying interest 5% per year
compounded monthly. What is the future

value of this lly after 10% payment?
a. 34444 b. %8756
c 33,491 d. 815167

The present value of an annuzty tmmedmte is

the same as

a.  Annuity regular for (n - 1) year plus the
initial receipt in the beg. of the period.

b.  Annuity regular for (n - 1) years

¢.  Annuity regular for (n + 1) years

d.  Annuity regular for (n + 1) years plus
the initial receipt in the beginning of the
period.

l MCQ Compiler - Quantitative Aptitude Editiond
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!
F53) Anshike took a loan of £ 1,00,000 @ go, %)
m’ L

Jor
o o &
celue aftr § yours with Wm‘ﬂo::fm,};:: N
I the desired A 0000, then.the to poy the o
i (i (5 € ’ Iments
peies instal . 226,
1 ¢ palue (in 3 is 568 o 82504563 b by 045.68 :
presen g b, 2712 o 22804550 d. "€ Of e,
(3 - d. 41 : :
o R SO
& g 5 aooattIumeIeachqu Q|
: two kit invests ¥ 3, arg, |
. 1,02,000 is to be paid back in . o4 A"--,. ;nmomrAforSyenrs.W,: |
W) Alemoftl the rate is 4% p. receiving ive at the end of the ¢
k qﬁ“""“m‘:immuinw mou"”"‘""";:m b 271 1045?”?
ally, o £ 71,200. - Uy
W“"F o plen & a d.  None of ¢
this instalment hese
charged under b 8120
o« 6160 o 7560

A company &tablishefya sinking g,
e ot paymit 2,00, ey
maturity in 20 years tontribution to"'ef'"w
g ot it 15, %
" 359211 b, 492,17
———ETTIT L ETR T
019) Mr. X wants how much amount i TEN

: end of 10 years. Then

: c 5980
!3) mfumru!ueofmuifyqflwoﬁﬂ

is atoen &S°
nded annually is given

b e

e 51051 d 61254

if interest is ud,munlis"ﬂi“ifedtoki »
required bkiﬂmww"f: that P il soasmaccumulatei’s,oor o
4 sl G enery your if interest i |
0 (100100 = 15.9374298) ually at 10% (A (12, 0.1) = 213847,
1 o 37687 -~ £23381.65 b. 224385 g;
2 “'B'mj; ¢ eles  d ¢ 2836275
3,53,726 ‘,
24,53,726.87 e xring e sare (£ R
e EPS for g, 7
* is € 22. Compute auw;llt rat, EPS‘,,'“.:
£ annuaily
company grow
L i . .
s, 18.64% i
¢ e : c
i Ayer sinigle éushfiow so annuity
‘Note: Options are &S per sig

ju invests ¥ 20,000 every year in 4
@ qu starting [romicodey for next 1) o
Assuming that interest rate on this depos,,
7% per annum compounded annuaky, Whe

ezswispaidmwa"'wyf”."mm,:'g
a loan. What s the loan amount if interest

?
be 14% p.a. compounded annually?

be the future value of this annuity)
VN4 71584190 b 21304027 :'u : 5{'0“ 526 b 382313
“a ¢  T1467421 4 14,0109 ¢ 643,483

d 1357 769’

200 is invested at the end of each month in

an account paying interest 6%31’:' fl‘fuyw'!
What is

; ,anewyyar,brnﬂ
) Mr. A invested 2 10,
o mywsuﬂ-mm t rate of 8 percent po

compounded anmually. What i futy
value of this annuity after 10% payment? m* ennuity?
e 3204 b. 212,044 e 132644 b 132464
- 22,040 d. ¥12,000

(30) ¥ 5,000 ;s investeq VerYy mongh
account paying interest @12
compounded mopg; : ?
value of thig annuil: iu?:h:;}: mx b
payment? (Gipey, that (1011 =11156)
e 57800 256,100
C 56,800

b.
d. 257100
G Sinking fund factoy ;5 the WI ~f
a.

of
t val, inter,
singiemh;eo:: oot

Present alye interest foctor ofan
annuity

end in gy
% per annum

c Future paly, interess factor ofan
annuity

a 174,625 b.
C. 262,745 d.

. 267,245
GH A car is available for ¢ 4,98,200

272,514

cash payment
w(w,a])ashdownpaymlﬁuowdby

three equal annugl instalments. If the rate of
interest charged is 14, per  annum
compounded  yearly, then total  interest
charged in the instabment plen is (Gipen
P(2,0.14) - 232163):
e 1146314

b 146,137
€ 128040

d. 2158040

. __@__Mwmm

m-mmml_

—————

35)  Govindg's mother

decides to gift him 50,000

a.  ¥2,80,4935

b ¥ 2,08,493.5

C. 2,08,943.5 d. %2584935
36)  How much amount is required to be inpesteq
EUETY Year so as to accumulate ¢ 30,000 at the
end of 10 year interest unded
annually at 10%.. (10, 0.1) = 15.9374

a. ¥ 1882?6 :

c. !"1832.55_'?_ i £ 1853.65
37) m

pose Mr. X invested ¢ 5,000 every yeqr

w7t ing from today in mutual fund for next 10

*@ SUrs. Assuming that ingerest compounded

4 T armually is at 189, P-a.. What is future value?

%ﬁ% 4. ¥1,83,677.68 . 21,38,678.85

a sl ? 1,83,776.53 d. 21,38,774.55

- (38)  What will be the future valye of an annuity of
22,500 made annually for 12 years ot interest

rate of 5% compounded annually

4. ¥37,588.58 b.  £39,790.00

C.  140,873.13 d.  242,603.68
(39)  Mrs. X invests in an ity immediately that

Promises annual payments of 250,000 for the
next 16 years. If the interest rate i 6%
compounded annually then the approximate
present value of this annuity is
a. 155121775 b, 2 5,75,900.00
C. 15,05,288.08 4, ?5,35,612.45

(40) Calculate the Present value of ¢ 2,000 to pe
required after 10 years compounded annually

@t 5% per annum given (1,05 =1.62889
a 1,227.82 b. 128248
€. 132835 d. 182265




' If a loan of ¥ 30,000 is fo be paid in 5 annual
instalments with interest rate of 14% per
annum, then the equal annual installment will
be [take P(5, 0.14) = 3.43308]

a. 27400 b. 8100

c 38738 d. 8322

(42)  Find the future oalue of an annuity of ¥ 5,000
made annually for 6 years at rate of 12%
compounded annually, if ( 1+0.12)° =1.9738
a.  ¥45575 b. 40575
c. 339,465 d. ¥37,868

(43) What is the present value of an investment
that pays ¥ 400 at the end of three years and ¥

500 at the end of 6 years?
a.  ¥320 b. %335
c. %340 d. X280

(44) At 8% compounded annually, how long will it
take T 750 to double?
a.  6.5years

You are oousng two  investments:

Investment A yields 10% compourided

quarterly,  Inoestment

compounded semi-annually.

have equal annual yields,

a. 19.875 % b.
10.38%

B _syields 1%

4t

5,000 to be
thz interest rate is
t31=6,7, 8, 9 respectively.

=0.74261,0.71068,0.67686,0.64462

bl (05F
a ¥3,731
c. 3,384

b. 3,553

23,223

A person inests in a fund that pays 4% per
annum for four years. The future value of
current T 4,000 would be? use, if needed

a. Z 3,419 b. T4679
¢ 34866 d. 3,287
114;24;

@8) What is the present value of € 1000 to
received after two years compounded “"""ﬂlly

at 10% interest rate?
a 2826 b. 2800
c 836 d %835

%

49) In an account paying interest @% per y&'b‘
compounded monthly, Z 200 is invested qf th
end of each month. What is the future valy, ¥
this annuity after 10* payment?

(Where (1.0075)" =1.0775)
a 12,066 & b 102
c z :.;f'ai

.

(50) What is the annudliConfribution requireq \

an organization to accumulate  20,00,000 ;
e years for the construction of a pg,
aufacturing plant, utilizing a sinking f,,

(1)  Futurevalue of Ordinary Annuity ilad Bl
i

Aln,i)=A

A
Aln,i)=a] L+ 41
1
& Ami=a| G
1

A A (%+i)"—1
© L i1+

(2) ~ Asinking fund is create

g g Wannual interest rate of 69

ompounded annually?
AR (Wnsre A(10,0.06) = 13.180785)
B 16744090 b 1517360
217543360 4. T183714%

a3t b ol SRS i b i — -{%
A loan of T 16,550 is to be paid in three equq
' annual instalments at compound interest, Ty, ‘
value of annual instalment, if the rate 0]‘

" interest is 10% per annum is:
a. %1243 b. 26,655 ‘
Z 6,565 d i $1,343

1
}4
|

a a 3 a

a ¢ 6 a

a 8 b 9 ¢
10 b 11 a 12 b
13 a 14 d 15 a
6 b 17 a 18 c
19 a 20 b 21 b
22 a 23 a 24 b
25 b 26 a 27 a
28 b 29 b 30 a
31 ¢ 32 d 33 ¢
34 ¢ 35 b 36 a
37 d 38 b 39 d
40 a 41 ¢ 42 b
43 a 4“4 c 45 d
46 a 47 b 48 a
49 a 50 b 51 b

PO Sy

earn at 4 % per annum -
a.- 12,006 ‘

b. 12,040

c 12,039

Lt

Find the future value of annufgr:y 1000 my
annually for 7 years at interestirate of 14%

a.  %10730.71
[ 210734

Z10,000 is 2 (" o off a loan, the
amount  if kﬂ%::%té‘%bﬁ 14% per annum

compounded annyally’is [P(10, 0.14) = 5.21611]
a. . ¥521611 b ¥1917.13
e 2521611 d 3191713

Note: Duration was not given in the question, we have
it .
» it as Iq JZ% J[Kaggz gz;a given in

R > e B it /Y

(5)1:: The present value of 1 to be receive after 3 year
compounded annually at 11% interest is

ca._ 0713 b. 0811

c. 0731 d. 0.658

redeeming debentures
" worth % 500,000 at the end of 25 years. How

much provision need fo be made out of f:i‘oﬁts
" each year provided sinking fund investments can

Mathematics for Finance

6)  Suppose your father decides fo gift you T 5,000
A every year starts from today for the next four
years. You deposit the amount is a bank as and
when you receive and get 10% per annum
interest rate compound annually. The present
value of this annuity is [P(3,0.10) = 2.48685]
a. 31743425 b. 21734425
c. . 217434.52 d. ¥17,344.52

Find the Present value of T 10,000 to be required

after 5 years, If the Interest be 9%.

a. Rs.6500 b. Rs.6499.42

c.  Rs660052 " d. Rs.6700.52
(8)  Rs500 is invested is indested at the end of each
A month isan account paying interest 8% per year
pounded annually. The future value of
| after 10th payment is
Rs.7243.31 b. Rs.7423.30
Rs.3451.50 d. Rs.3541.50

SIS

The furniture depreciates by 10% p.a. if the
present value of the furniture in office is 321870,
calculate the value of furniture 3 years ago.

a.  ¥30000 b. Z35000

[ < 40000 d. Z45000

Find the future value of an annuity of T 500 made
annually for 7 years at interest rate of 14 % per
annum [Given the (1.14) =2.5023]

a. %5365.35 b. %5000
[ Z 5325.65 d.- %6000.35

~ 200 invested at the end of each month in an
account paying interest 6% per year

_ compounded monthly. What is the future value
of this annuity after 10th payment?
a. 32045 b. %5055

¢ 0 422065

Suppose your father decides to gift you T 10,000
every year starting from today for the next five
years, you deposit this amount in a bank as and

. when you receive and get 10% p.a. CI. What is
the present value of this annuity?
a. % 67,156 b. %45,698.70
@ %41,698.70 d. None

'CQ Compiler - Quantitative Aptitude Edition 4
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j Y bought Motor Bike Costing 80,000 by making
" down payment of < 30000 and agrecing to make
annual payment for four years. How muc'h
would be each payment if the interest on unpaid
amount be 14% compounded annually.

a. ¥ 17160.25 b. ¥17600.25
c.  15600.25 d 16025

T

A machine costs ¥ 1,00, 000. The depreciation
rate is 10% per annum. The scrap value of the

machine at the end of 5 years is
a. 349490 b. ¥59049
d. ¥51049

261029

j19/Seriesill:

X bought a TV costing 25,000 making down
payment of T 5000 and agreeing to make equal
annual payment for four years. How much
would be each payment if the interest on unpaid
amount be 14% compounded annually?

a. %6864.10 b. ¥6850.63

C. < 6859 Z 6871

The future value of annuity on T 5000 a year for
7 years at 14% per annum compound interest is
a. ¥5300 b. ¥53653.57

c. %5480 d. ¥546523-

% 5000 paid for ten years to off aloan.' Wha
the loan amount if interestirate be 14% per
annum compounded annually?.(Given P (10,
0.14) =5.21611 &

a

' %27080.55
N @ TP May 19 Serie
Suppose your friend decided gift to you ¥ 1
oy every year starting from today for the next five
; years: Your deposit this amount in a bank as and
when you receive and get 10% per annum
interest compounded annually. What is the
present value of this annuity?
a. Rs. 42698.70 b. Rs.43698.70
¢ Rs.45698.70 8.70

(19) 1000 is invested at the end of each month in an
account paying interest 6% p.a. compounded

monthly. What is the future value of annuity

after 10th payment?
a. Z10220 b. 21022
‘I4.25 I

(20)

B

(24)

@)

“making a down pay™

" [Given (114)° =13.74349]

- down and ¥ 4,000 at the end of each year f,

ting T 1,30 01
il bought a motor cycle €08 iy
Anil bough ent of 2 30,00300 b)l

| paymen ¢ %
agreeing to make equal annua b
yi:: I§ow mucl would be eaclt paymen; x]f;’f
interest on unpaid amount be ;;)% compo,, d:
annually? [P (5, 0.10) = 3.79081.

. 263007
. %28379.70 b 0
': 4 2263797

Shoba borrows £ 50,00,000 fo buy a hous, 'Jﬁ

I instalyents for 20 Years ang
mz aus:@ﬂhm’ what wij) blﬂ
e . 26852984
" 4 25872984
R T
draft of £ 50,000 to be paid back eq“
installments over @ period of 20,

Find the value of Installment, if interg,
compounded annually at 14% per o

"t oa 55050 b 549.30
c 7 559.50 d. Z 560.50
The present value of an annuity of & 80f,,,h

years at 5% p-a i [Given (1.05)° =2653
a. %997 (appx.) b. <900 1
C. z 1:000 - none o ﬂ'l&g ‘

TP May 20

paying ¥ 2

A person bought a house

yrs. at 5% p.a. C.I The cash down price js

a. 275000 b. 276,000
c 76375 ‘ c&ggf;uh&

DR W v B
A man purchased
He paid % 2,00,000 at the time of Pllfdlm(q
agreed to pay the balance with interest qf
per annum compounded half yearly in 20 P
half yearly instalments. If the first instalmey
paid after six months from the date of purdy
then the amount of each instalment is.
a. 3871845 b. ¥8769.21
c 2789313 d.  noneof thes

@31  Future oalue an ardiary aut

A person invests % 500 at the end of each year
with a bank which pays interest at 10% p.a C.L
annually. The amount standing fo his credit one
year after he has made his yearly investment for
the 12* time is. [Given (1.1)? =3.1384 ]

a. ¥11,761.36 b. 210,000

. Z 12,000 d. none of these

(26)

(27) The present value of Z 10,000 due in 2 years at
5% p.a. compound interest when the interest is

paid on half-yearly basis is
a. 29,070 b. 29,070
e d._none of these

Vo 20,

)

(28)  Find the present value of % 10,000 t be requirt
after 5 years, if the interest rate be 9 per cent

compounded annually.
a. %5500

b. %5600

c. %6000

d.

6500

(29) A man borrows ¥ 4000 from a bank at 10%

3 compound interest. At the end of everyhy
1,500 as part of repayment of loan and interest. .
How much is still owe to the bank after three such

installments.

a %359

b. 820 b

@ T724 : o
d ¢ o

%720

(3) The l‘urc

oalyte of anrisity 'of < 1,000, made
annually for 53jears at the interest of 14%
compounded anmally s [(1.14)" =1.925410]
a. 5610
b. 26610
c 26160

26160

Aln,)= A[w]
1

A(ni)=A [(1—”""—“1-]
1

ca Compiler - Quantitative Aptitude Editen
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(2)  Anil bought a motor cycle costing 2 1,50,000 by

Aln,i)= A[l'—“iﬂJ

Alrt) 'A[ (1+ir }

Jiy

making a down payment of T 50, 000 and
agreeing to make equal annual payment for five
years. How much would be each payment if the
interest on unpaid amounts be 10% compounded
annually? [ P (5, 0.10) = 3.7908]

a.  %26379.66 . b. ¥26300.70
c.  £26500.70:%% d. %26370.70

AR s b

Shoba borrows € 50,00,000 to buy a house. If he
pays equal instalments for 20 years and 10%
interest on outstanding balance, what will be the

‘ﬁud’annual instalment? [P(20,0.10) = 8.51356]

35)

(36)

o 21822360

c. 366250

. 22638165

e 540576
‘o 7643483

ICQ Compiler - _Gt_lantitative Aptitude Edition 4

" £6872984 b. ¥685298.4
| 75852984  d. ¥5872984

ow much money is to be invested every year so
‘to accumulate Z 3,00,000 at the end of 10 years if
interest is compounded annually at 10%

a.  18823.65 b. 218833.64

d. %16823.65

Find the present value of an ordinary annuity o
8 quarterly payments of ¥ 500 each, the rate of
interest being 8% p.a. compound quarterly

a.  4275.00 b. 4725.00
d. 3266.50

How much amount is required to be invested

every year so as to accumulate T 5,00,000 at the

end of 12 years if interest is compounded

annually at 10 [(12,0.1) = 3.1384284)]

a. ' ¥23381.65 b. ¥24385.85
d. %28362.75

Raju invests 320,000 every year in a deposit
scheme starting from foday for next 12 years.
Assuming that interest rate on this deposit is 7%
per annum compounded annually. What will be
the future value of this annuity?

b. ¥382,813

d. %357,769

g e




D
-

(38) Mr. A invested € 20,000 pa. for next 3 years at
the interest rate of 8 percent p.a. compounded
anmually. What is future oalue of the annuity?
a. 62644 b, 62464
c. 64928 d. 63442

2 10,000 is invested every month and in an
account paying interest @12% per annum
compounded monthly. What is the future value
of this annuity just after making 11* payment
a. ¥ 115,600 b. 156,100
c.  ¥156,800 d._3 157,100

@)  sinking fund factor is the recrpmcal of
@ Present oalue interest factor of asi

ingle cash

J

b. Present value interest factor of an annuity
Future value interest factor of an annuity
Future oalue interest factor of a single cash

c
d.

fZOOatﬂteendofeadﬂmonthsforwy%zxs
assuming rate as 5% converted quarterly?- ~
a.  $3473.86 b. %3108.60 -

2626538 d. Nan_eyfthzsc

42  The amount of an annuity duemnststzng of 15
annual payments invested-at 8% efectioe is
10,000. Find the sizc of cach payment.

a 287386 b T108.60
c! €341.01°

'I'heﬁtture Q‘aﬂ annuity of? 5000 is
made an y Byears at interest rate of 9%
compounded annually. [ (1.09) =1.99256)]
a Z55,142.22 b. %65 142.22

C. 2 65, 532.22 d Z 57 425.22 '

“3)

(44)  Paul borrows 20, 000 on oondthon to repay ll
with compound interest at 5% p.a. in annual
instalment of Z 2,000 each. Find the number of
years in which the debt would be paid off.

a.  10years b. 12 years
14 ears d. 15 years

WMMM—

@) Pmdﬂ:epmenfmlueofanannuxtywhwhpaysé% %

ot o pﬁgﬁ}nﬁwoﬂnm! factor of u sing,

cash flow
b. Present valuc intercs!

c.

f factot of annuity

Future value of Interest facfor of anny,
Future oalue of Interest factor of asing;,

cash flow

er

A debt of ¥ 5000 with mteresl ut tlm 'alc oy,
compounded quarterly is to be l”lschurged
equal quarterly payments, the first pay, q
being due today. Find the size of each Payme,, |
a. ¥573.86

(46)

b‘. Z669.17 |

Find the future value of m mmmty of ¥ 500%
made antually for 7 years at interest rate n \
compounded annually.[ (1. 14) =2.5023) 4
£5365.25 b. ¥5265.25

< 5465 25 d. Noneo these

“7)

g - €y

4@ How much amaunt is requtred to be inge
-~ every year as fo accumulate  6,00,000 at th,

- of 10 year, if interest is compounded annugly,

" 10% rate of interest?

4 737467 b

Z 37 647 d.

% 37,476

2 237,67 674

49) Paul borrows Z 20,000 on condztwn to repﬂy
with compound interest at 5% p.a. in amy
instalment of < 2,000 each. Find the nump,|
years in which the debt would be paid off.

a. 10years = b 12years
b.  14years d. 15 yeurs

(0) The future value of an annutty af Z 15004
annually for 5 years at an interest rate of |
compounded annually is

a. 9517.56 b. 9157.65
c. 9715.56 d. 9175.65

(51) Pmd the pnzsent value of an annuzty of ?Im
payable at the end of each year for 10 years.Ifi
of interest is 6% compounding per annum.
a. 27,360 b. %8360
c. ¥12,000 d. None ofthese

W Mathemat/cs for Finance
z!! . A
g Mr. A borrows 5,00,000 to buy a house. Ifhe pays (59) The time by which a sum of money is 8 times of

equal instalments for 20 years and 10% interest itself if if doubles ifself in 15

on outslanding balance what will be the equal 4 years.
annual instalment? a. 42 years b. 43 years
a. 15823984 b, 45 years d. 46 years
(& & 68729.84 !

C.

¥58729.84
d.  None of these
,,,l '.’ e /’ ,,,, /
(53) Suppose your mom decxdes fo gift you Z 0 000
every year starting from foday for the next
- sixteen years. You deposit this amount in a bank
as and when you receive and 8¢t 8.5% per annum a
interest rate compounded annually. What is the '

present value of this money: [Gi
(15,0.085) = 8.304236 e

(60) A sinking fund is created redeeming debentures
worth Rs. 5,00,000 at the end of 25 years. How
much provision need to be made out of profits
each year provided sinking fund investments can
earn at 4 % per annum

12,006 b.
12039

12,040

C.

(61)  Future valug of Ordhi

a. 83042 b 290,100 . Ta¥r -1
e 29302 4 10100 A= A[ : -1]
i
'r '/ (7 e 24 ,U;," =
: (54) Find the present oalue of an annuity wluch pays o 4| A +1 (1+ t)" +1
200 at the end of each 3 months for 10 years
.assuming money to be worth 5% convert, i
kst o converted . %. Alni)= A[1 (1+l) ]
a4 I347386 b 7310860 B,
c._ 2626538 d.Noneof thes {k L A("""=A[—(1(;1) )_ 1]
‘ +i)"

(55) Arslan mvested < 10,000 at 8% per,.amt
compound quarterly, then the valie “of the
investment after 2 years is <

a. 311,716.59 b. ?10

(62) Mr X bought an electromc item for Z 1000 What
would be the future value of the same item after
two years, if the value is compounded semi-
annually at the rate of 22% per annum?

a.  T1488.40 b.
__c ? 2008 07

21518.07
d z 2200 00

“’mwty of % 1,000 made
t. the interest of 14%

(56) The future a
annyally for 5 y

(63) Mr Aborrows?SOOOOOtobuyahouse Ifhe

compounded dnnualliyis:
:. :g g;g V{%%\? 66 610 s equal instalments for 20 years and 10%
3 | interest on outstanding balance what will be the

E M equal annual instalment?
7 Present value of a scooter is ¥ 7 290 if its value @ 358239.84 b tddd5.41
decreases every year by 10% then its value before C_ 68729.34 d. _None of these
3 years is equal to: '
a. 10,000 b. 10,500 (64) The present value of an annuity whzch pays % 200
o 7_0’000 _ d 205000 > at the end of each 3 months for 10 years,
T T S : ¥id assuming money to be worth 5% converted
(58) How much amount is reqmred o be invested quarterly
every year so as to accumulate ¥ 3,00,000 at the a.  ¥3473.86 b. ¥3108.60
end of 10 years, if CI is annually at 10%? ¢ X11418044 4. Noneofthese

a. %18823.65 b. 18,000
c. %1872865 d. I18,882.65

CA. Pranav Popat I MCQ Compller - Quantitative Aptitude Ed/lloﬂ
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65)  Acompa smbla a inking rovid
for the p:vymenf of % 2,00,000 debt maturing in
20 years. Contributions to the fund are to be

@ made at the end of every year. Find the amount of

% "% ench annual deposit if interest is 5% per annurm
N 4 61 b 26,049
3 ¢ %6052 d 26,159
- 1 2 a 3 a

4 ¢ 5 ¢ 6 a

7 b 8 a 9 a
. 10 a 1 ¢ 12 a
13 ¢ 14 b 15 a

16 b 7 b 18 d

19 a 20 d 21 d

22 p 23 a 4 c

25 a 26 a 27 ¢

28 d 29 a 30 b

31 a 32 a 33 d

34 a 35 ¢ 36 a

37 b 38 b 39 a

40 ¢ 4 ¢ 2 c

43 q 4“4 ¢ 45 b
L 400 47 a 48 c g
89 c 5 b 51 %
L. 52 b 53 ¢ 54 .

55 ¢ 56 b B a8

58 b 59 ¢

61 a 62 b

64 d 65 b

()

A person wants to lease out a machine costing

L. 5,00,000for a 10 year period. It has fixed a rental
. 0f%51,272 p.a. payable annually starting from the

i end of first year. Suppose rate of interest is 10%
i~ p.a.compounded annually on which money can be
invested. To whom this agreement is favourable?

a.  Favour of Lessee

b.  Favour of Lessor

c Not for both

d.  Can't be determined

CA. Pranayv Popat

@

i iy e AR LT

@ ABC Lid. Wants lo leasc out an asse; 3
23,60,000 for a five year period. It hqs , f.
rental of ¥ 1,05,000, per annur payable g, L
starting from the end of first year. Suppose r::

interest is 14% per annum compounded g,
on which money can be invested by the Com:J

 Is this agreement favourable to the compay,

a. Yes b. No
; d. None f thes,

3 AN s e No,
(3  What is the net present value of piece of
which would be valued at 22 lakh at the 5,
;&"’:;e_g increase =5%)

years? (Annual )
a. 181lakh T b 201k
NS

000 per month @ rate of interest 12%, .
" ¥45,00,000 b €50,00,0

year onwards. What is the present v"l"eij
perpetuity, if the rate of return is 20%?
a. 201 b.

19.1

21.1
(6)  Assuming that the discount rate is 7%, p;
much would pay to receive % 200 8T0%ing g

“
<

annually forever?

a.  ¥2,500 b. %5000

c. 27,5 d. 10,000
. : T

e & & “Qhﬁ

(7)  Ifdiscount rateis 14% per annum, then hoy,|
a company has to pay to receive T 280 grouiy
9% annually forever?
a. ¥ 5,600

(2 Z1,400

b. %2800

P
(8)  Ifthe nominal rate of growth is 17% and infy
is 9% for the five years. Let P be the (i
Domestic Product (GDP) amount at the pr
year then the projected real GDP after 6 yer;
a. 1.587 P bERT1.921°P
‘¢ 1403P d 9 251 P

a. 47,00,000
c 57,80,000

b.  45,00,000
d. 50,00,000
v

Operating profit of a manufacturer for five ears

v(Iﬂ)

Years Operating profit (in lakh 3)
1 90
2 100
3 106.4
4 107.14
5 - 120.24
6 157.34

- Then the operating profit of Compound Annual
Growth Rate (CAGR) for year 6 with respect fo

year 2 is given that:
a 9% b. 12%

e 3%

(11)  If the cost of capital be 12% per anual, then the

net present value from given cash flow: 4 °

1 person bought a house by paying 2 45,00,000
down payment and % 80,000 at the end of each year
till the perpetuity. Assuming the rate of interest as
16% the present value of house (in 3) is given as:

Years | Operating profit (in thousandé3) ~
0 : -100 -
1
2
3
a. 31048
c 21048

(12) Assuming thut;;h;ﬁiisfayﬁ{ rate is 7% .a. How

much woul@ﬁ“ﬁfﬁ@eiéive % 200, growing at

5% annually forever?
a. 32500 = b ¥5,000
c. 27,500 d. 10,000
gy 7w ;wmi_fj moace

15,000 and final value of % 25,000 in 3 years is:
a.  19% b. 18.56%
c.  17.56% 17%
e PYQJun23.
(14) . Ms. Paul invested ¥ 1,00,000 in a mutual fund
scheme in January 2018. After one year in January
* 2019, she got a dividend amounting to 10,000 for
< first year, ¥ 12,000 for second year, ¥ 16,000 for
third year, ¥ 18,000 for fourth year and ¥ 21,000

€Q Ce jler - I ¢ ; ¢
Mcac or— Quenititcrtive AB it € ompiler 0umt[tativedptitude Edijtion 4 .

(19) Assuming that the discount rate is

(13) The CAGR of a initial value of a ivestment of

Mathematlcs for Finance

Jor fifth year in January 2023. What
Compounded Annual Growth Rate (CAGR)
dividend return? Given 1.2038* =2.1.

a.  20.38% b. 18.59%

c. 16.36% d.  15.89%

PYO Jun
If the discount rate is 10% per annum, how muc
amount would you pay to receive T 2,500 growin,
at 8%, annually forever?
a. Z1,25,000

c. 21,550,000

(15)

b. ¥2,50,000

Mr. Sharad got his,»
0 2 50,00,000. t{fm t to receive a fixed monthl
sum of amourﬂ?br hisrést of life, starting after on
month %mé%mt to pass on the sam
to futurege " o, He expects to earn an interes
qféﬁ‘ Cl ‘Annually. Determine how much
-perpetuity amount he will receive every month?
da 239500 b, 238,500

e 37,500 d. Z36,600

(]

C.

“}(17)"- A person wants to open a shop have two options to
acquire a commercial space either by leasing for 10
years at annual rent of ¥ 2,00,000 or by
purchasing the space for ¥12,00,000. If person can
borrow money at 14% compounded per annum.
Which alternate is most suitable?
a.  Leasing b. Purchase

c.  Can'tsa d.  Data insufficient

e EIReeTE by

If the initial investment of ¥ 4,00,000 becomes
26,00,000 in 24 months, then CAGR is
a  3033% b 22.4%
¢ 19.46% 4. 1447%

D Ju

12% per
annum, how much would you pay to get T 100 per
year, growing at 4%, annually forever?

a. 31425 b. ¥1,300
150

(20) You bought a painting 10 years ago as an
investment. You originally paid ¥ 85,000 for it. If
you sold it for T 4,84,050, what was your annual
return on investment?
a  47%

b. 47%

c} 19% d 12.8%

431



@1) The Earning Per Share (EPS) of a company for

value of growing perpetuity) is: can borrow money gt le,
c ;1310222 Z iﬁﬁg unded annually’ [P (40.14)=29137) *
K : - %\ S leasing is not preferable
i ble
XB) An investor intends to purchase a three yeag L »b mmijefmed
21,000 per oalue bond having nominal intgrest. . ¢ canno

R

rate of 10%. Aatwhatpnmtlwbondmaybe
purchased now, if it matures at

investor requires a rate of retur o

a.
C.

0 60 9 N o N

<907.125
¥ 905.25

five years is given belot:
Year EPS
2019 40
2020 25
2021 40
2022 60
2023 90
Calculate the Compounded Annual Growth Rate
(CAGR) of EPS
a.  2347% b. 2447%
C. 22.47% d. 21.47%

“22) APerpetwty!msamshﬁowof?&Sandn
: required rate of return of 8%. If the cash flow is
expected to grow at a constant rate of 4% per year,
then the intrinsic value of this perpetuity (present

%Mw,

14%7

6 SR AR AR

CA. Pranay Popat
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(1 A machine can be purchased for < 50 OM
Machine will be contributing % 12,000 pe,
for the next five years. Assuming borrowiy,

is 10% per annum. Determine whether g ,

";

should be purchased or not

. Should be purchased

b.  Should notbe purchased
¢ Can'tsayd abaut purchase
d. y

A company is consideri proposal °fp“’ChaS nM
a machine either by making full paymen;
4000 or by leasing it for four years at an qp,

mte 51250 Wh:ch course ofactzomsp,ef& .

@

none of these

3) A person desires to create a fund to be mvme?‘
10% Cl per annum to provide for a prize of 23
coery year. Using V=a/l find Vand V will p,
a. 2,000 b. 2,500
Z3, 000 d. _none of these,

C.

@ A oompany is oons:denng proposal of V“TChasm
a machine either by making full paymen; o)
4,000 or by leasing it for 4 years at an annugl o,
of € 1250. Which course of action is P’efemble?
the company can borrow money at 14 9, pu
annum? [ Given: (1.14)* =1.6870]

“‘a. . Leasing preferable

b Leasing is not preferable

c. Can’t say

d. None of these

®) A company is considering proposal
purchasing a machine either by making fil
payment of T 4000 or by leasing it for four yen
at an annual rate of ¥ 1250. Which course
action is preferable if the company can borroj

s o mMTPw 'Mj ) Net Present Value (NPV)

Wnﬂt/a for Finance

“money-at 14% compotinded annually? [ P c Total net Investment- Present value of

(4,0.14) = 2.9137] net cash Inflow
qa. Leasing is not preferable d, a orb
b, Leasing is preferable : 1 1
¢ Cannot be determined (12) lf the cost of capmzl be 12% per annum, then the

d. Norte of these above,

Net Present Value (in nearest Rs.) from the given
cash is given as % in thousands

6 A machine can be purchased for I 50,000, Year 0 1 12 |3
w  Machine will contribute 2 12,00q per year Ifor the ating profit | (100) {60 |40 |50
i next five years. Asst'lme borrowing cost is 10% a. 734,048 b. ¥34185
per annum. Determine whether machine should

c 251,048 d. ¥21,048

be purchased or not: (P(5,0.10) = 3.79079
a. Should be purchased

(13) Find CAG, ifl aptng profit of a

b Sh”‘f’d not be purchased *  manufacturer for froeyears is given as
c.  Can'tsay about purchase [vo]1 (2703 ]« 5 |6 |
d none o the abave Lop T90. lm }-206.4 F107.14 | 12024 | 157.35 |

a. 9% ‘.'v' b. 12%
& ji% d. 13%

A 1000 bond pnyxng annual dividends at 8.5%
will be redeemed at par at the end of 10 years. Find - =
the purchase price of this bond if the investor [he nommal rate of growth is 17% and mﬂatton
wishes a yield rate of 8% 6 {g‘s 9% ﬁn the five years. Let P be the Gross
.-a . 907.135 b. ¥1033.54 ; Dq_mesm: Product (GDP) amount at the present
c. 294567 d. None of these  year then the projected real GDP after 6 years is
g Sy Mo T 1.587P b. 1921P
. c. 1.403 P d. 251P

@

Nominal Rate oReturn = )
a.  Real Rate of Return — Inflation* .~
b. - Real Rate of Return + Inflation " -
@ Real Rate of Return / Inﬂatwn
d. - Real Rate of Return sinf

1) 4 person desires to createa fund to be invested at
10% CI per annum to provide for a prize of 300

every year. Using V=a/I find V

oo : , w18’ a. 22,000 b. 22,500

) - Net Pmentvalupo ther i c. 3,000 d. none of these

S Accept tthropasal \gf Gt < = B
b. - Reject fh;‘prapasal (16)  Determine the present value of perpetuity of
c Not Pea,g_'ble 350,000 per month at the rate interest 12% p.a.
d = a.  45,00,000 b. %50,00,000

< 55,00,000 d. ¥ 60,00,000

(10): Nominal Rate of Retum =

a. .- - Real Rate of Return — Inflation (17)  Assuming that the discount rate is 7% p.a. How

B b. Real Rate of Return + Inflation much would you pay to receive ¥ 500. Growing
c.  Inflation -Real Rate of return at 5% annually forever?
d. ‘None othe a@gg a. %2500 b. 5000

. 27500 d._ 225000

4. Present value of net cash Inflow — Total (18) Ram made an mwstment of S 15 000 ina scheme
et Investment and at the time of maturity, the amount was
b. Present value of net cash Inflow — 225,000. If the Compound Annual Growth Rate
.+Present value of cash outflow (CAGR) for this investment is 8.88%. Calculate
the approximate number of years for which he has

invested the amount.

i MCQ@ Compller - Quantitative Aptitude Edition4
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mmmhrm;wm \
S b
¢ 55 d.

~N N

i . Rs.2800
10,000 twhile another machine with useful life of a Rs.5600 l; 4200
5 years costs < 8000. The first macline saves [ Rs.1400 L CaaE
labour expenses of T 1900 annually and the

A machine can be purchased for 25,

ur ses of ¥ 2200 (26) 0

ZT:::::.M D::jm‘lr::bouw ::f:md {nurse of Machine will contribute T IZOOO‘PB' Year f"'?lﬂ
action. Assume cost of borrowing as 10% next five years. Assume borrowu;;g cost jg 0;
compounded per anmem. per annum compounded mmu’r: Y. Det 3
a.  1*madhine should be purchased whether machine should be purchased or po, ™
b. 2 machine should be purchased a.  Purclased ..
¢ Information is not sufficient b.  Not purdﬁf z

-« d. Noneofthese c I’{foaﬁﬁ?’%

d.  Nomeo

20) 10 years ago the earning per share (EPS) of ABC = : MTl S
E Ltd. was % 5 share its EPS for this year is € 22. 27)  A£1000 bond paying annual dividends qp

: » 8.5

Compute at what rate, EPS of the company grow will be redcemed at par at .the emi. of 10 Yeg é‘

annually? Find the purchase price of this bond if the inogg |

a.  1597% b. 16.77% es a yield rate of 8% k
- ¥907.135 b. ¥1033.54

C. 18.64% d 14.79% B
M ¢  ¥945.67 i None of these
A company is considerin, osal of purchasi SR i
wos - amachine full payment gf% orj;:; legsﬁg i Assuming that the di;count rate is 10% :
' for 4 years at an annual rate of ¥ 1250. Which annum, how much would you pay to o,
course of action is preferable if the ompany can 2800, growing at 8%; annually, forever?
borrow money at 14% compoundéd annually? a. %1000 b. 21050
a.  Purchasing east c. %950 d:  None of thes,
. Both are same =

A V any -, tam a machine eith,
leasing it for 5 years (useful life) at an annyg),,
of Rs. 2,000 or by purchasing the machine fo, |

= L - ..; I
of ;% 1000 bond

A22)  Find the purchase price ‘
redeemable all the paying annual dividends at 4%

if the yield rate is to be 5% effective. 8,100. If the company can borrow money g 1,
a. 288416 . b 98417  per annum, which alternative is preferable?
c. % d Nomeofthese " a.  Lessing b. Purchasing
sSiaman £c 23 I Can't sa d. None of these
23) A stock pays annually an amount of Rs. 10 from 4 Ser;

6% year onwards. What is the present value of

perpetuity, if the rate of return is 20% a.  Annuity
a 201 b 191 b.  Perpetuity
¢ Annuity regular

y D [/ : d Annuity due
If the nominal rate of growth is 17% and inflation i A
is 9% for the fie years. Let P be the Gross (30) Nominal Rate of Return =
domestic Product (GDP) amount at the present a. Real Rate of Return — Inflation
year then the projected real GDP after 6 years is b. Real Rate of Return + Inflation
a 1587P b. 1.921P ¢, Real Rateof Return [ Inflation
¢ 1403P d 251P 4 Real Rate of Return x Inflation

o/ '
(5)  If discounted rate is 14% per antm, th,,,mh \
; miuch company has to receive Rs.280 xfou,‘";n
@9 A machine with useful life of 7 years costs z 9% annually forever? y

__receipts | payments takes place forepe,

wla for Finance

1) Net Present value > 0, then
a. Accept the Proposal
b.  Reject the proposal
c Not Feasible
d. None of the above

(32)  Assuming, that discount rate is 7%, per annum
how much would you pay to receive Rs.sol
growing at 5%, annually, forever, ‘
a 2500

b. 3000
c 3500
d 4000

(33) The value of the present valye aence of ~
payments of X 80 made at the end of each 6 months %

and continuity forever, if money is worth 4%

compounded semi-annually is
a. 34,000 b. 25,000
? 3,0 d. oe of these

Avicrrror Wooes
Aanswer Key
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